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S F

B E=20-15-10 5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_TT__mkFit-DQM_original-0
—— DQM_TT__mKFit-DQM_mod-127
[Efficienc]| —— DQM_TT__mkFit-DQM_mod_updated-127

-1-0.8-0.6-0.4-0.2 0 0.2 04 0.6 0.8 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

<0.05g
o

L =L SEREREEE IEREERE SREPEPE

©

wooaFFE---F---4)------ FRIIII

> 3

2 :

D.035E f-o-f-e 4o STREREE

2

(SR oWolc] == N AU AU U N [ -
g

)

o © H : ;
T . .
o H H
15 .- :
PN U RN N T :

-1 -0.5 0 0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


